
491916 - RO 125 FEQ 19/04/2013

CD identifier: 1



491916 - RO 125 FEQ

Pos Part No. Description Quantity Price Currency

1 492631 Armature  230V 1 194.73 AUD

2 492632 Field assembly  230V 1 160.50 AUD

3 492628 Switch linkage 1 37.06 AUD

4 489421 H05 RN-F/4 1

5 491528 Socket housing  230V 1 12.02 AUD

6 463361 Ring gear 1 49.23 AUD

8 401246 Snap ring 1 2.21 AUD

10 400803 Ball bearing 1 77.42 AUD

11 400737 O-ring 2 2.62 AUD

12 463293 Cam 1 85.73 AUD

13 219075 Raised-head screw  M4 x 16 4 1.71 AUD

14 467819 Counter balance 1 6.92 AUD

15 492621 Flange 1 86.26 AUD

16 463357 Sealing lip 1 10.40 AUD

17 400582 Ball bearing 1 21.09 AUD

18 400745 Ball bearing 1 28.05 AUD

19 463360 Ring gear 1 33.53 AUD

20 463291 Gear cover 1 66.82 AUD

21 400743 Ball bearing 1 24.89 AUD

22 771483 Snap ring 1 2.21 AUD

23 463358 Eccentric disk 1 86.44 AUD

24 463363 Gear shaft 1 34.94 AUD

25 400748 Ball bearing 1 26.43 AUD

26 463362 Gear 1 24.51 AUD

27 400649 Tension disc  M5 1 1.56 AUD

28 400797 Screw  M5 x 12 1 1.83 AUD

29 492624 Catch 1 59.80 AUD

30 492623 Tooth disc 1 31.23 AUD

32 492622 Gear housing 1 103.55 AUD

33 400174 Raised-head screw  3,5 x 22 mm 9 1.71 AUD

34 493783 Housing set 1 86.44 AUD

35 492626 Cover 1 22.89 AUD

36 400626 Ball bearing 1 13.43 AUD

37 487498 Fan 1 13.58 AUD

38 463830 Spacer piece 1 9.34 AUD

39 228672 Ball bearing 1 17.94 AUD

40 444018 Solenoid ring 1 4.89 AUD

41 493471 Brush holder  (pair) 230V 1 70.23 AUD

42 492629 Shut-off brush  (pair) 230V 1 38.89 AUD

43 492398 Electronic  230V 1 217.12 AUD

19/04/2013

CD identifier: 2



491916 - RO 125 FEQ

Pos Part No. Description Quantity Price Currency

44 464854 Channel 1 13.91 AUD

45 492630 Pusher 1 22.89 AUD

46 465202 Spring contact 1 1.94 AUD

47 400855 Shim ring 1 1.71 AUD

48 228738 Raised-head screw  M4 x 10 3 1.71 AUD

49 400797 Screw  M5 x 12 1 1.83 AUD

50 465566 Sealing ring 1 1.77 AUD

51 400796 Cheese head screw  M6 x 25 1 1.77 AUD

52 493912 FESTOOL 125FX 1 18.18 AUD

19/04/2013

CD identifier: 3


